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QUESTION 1

What is the maximum number of routes that can exist between a given pair f Replication Servers? 

A. One direct route 

B. Two direct routes 

C. One direct and one indirect 

D. Two direct and one indirect 

E. One direct and one indirect in each direction 

Correct Answer: B 

 

 

QUESTION 2

In an existing table level replication setup, if a column is added to a primary table, then an administrator has to 

A. Recreate only the subscription. 

B. Recreate only the Replication Definition. 

C. Recreate the Replication Definition as well as the subscription. 

D. Add the same column to the replicate table and alter the Replication Definition. 

Correct Answer: D 

 

QUESTION 3

Which thread performs function string mapping? 

A. SQM 

B. DSI 

C. DSI EXEC 

D. RSI 

Correct Answer: C 

 

QUESTION 4

Which errorlog code indicates a message is reporting a stopped thread? 
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A. E 

B. F 

C. I 

D. H 

E. N 

Correct Answer: D 

 

 

QUESTION 5

Which of the following are TRUE about Semiautomatic Warm Standby? (Choose 2) 

A. DDL always replicates. 

B. Switchover is instantaneous. 

C. Entire database marked with sp_reptostandby. 

D. Individual objects are marked with sp_setreptable. 

E. Subsets of the database may be replicated instead of the whole database. 

Correct Answer: DE 
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